Euﬁﬁﬁﬁmﬂ Rnﬂn&aﬁmmfa%msﬁwﬁ_mnmﬁE lead to the reduc

“ome.

| None of the above

| argue for the importance of using Artificial Intelligence, robotics and oth
| techniologies to alter the cultural tendencies in the workplace,

‘The purpose of the text is to

-explaln and demonstrate how workers use intelligent technologies in their ne
‘environment,

L .

\....\...\@..”....
Fr

inform the reader about how the use of smart technologies is bringing-about subtly
to the workplace culture,

describe the process and steps through which workers adapt their values to differe
contexts following new changes in technolagies. |

‘None of the above

‘such disruption’ in paragraph 1 refers to

/| the adaptations that will affect the workplace du i3 the

@ use of intelligent te

o _m.nmEmH of skilled workers' loss of jobs and income reduction due 1o the

B
¢ | how _.:m._zmm__mm%m_ﬁﬁ._m_mm...&wwu.mm in societies.

economic consequences of using Al in the

Workplace on societies,

T ..m.___. ._ ..Hﬁawﬁwﬁm.ﬁucﬁm ;




Based ou. S o e e R : ===
sociery’| Em..mw.ﬁﬁ_ Wwhich of the following is an aspect of the ‘art

More job opportunities

Better :.&zm. standards

Maore liberalism

Less tolerance of foreigners ——f==h

None of the above _

In paragraph 3, ‘a winner-take-alf principle’ means

only a few workers will do all the tasks at work and the others will remain jobless. .

the best workers will be rewarded by things such as a pay raise while less competent ones

will lose their jobs,

a few competent workers will do the most important tasks while less competent ones will

deal with less skilled work.

the workers who don't fit their jobs are likely to face racism and discrimination atwork.

none of the above

they think

Which of the following can be inferred from your reading of paragraphs 3 and 4?
{1/ AL, it is ikely thav cirizens prefer authoritarian Jeaders because
— ey will stop the mwc__u...m,m.m.mam. of Al in the workplace.

ecure their incomes and living,

they think their policies will §

they think they will slow down the process of work automation.

keep foreigners to less mportant jobs,

@@.sﬁﬁ\&@a_a

None of the above

e




- pluf!ﬂ'ﬂlr
rima the ure of 1B
wlch enaract

-&ﬁr‘!nf dawlnﬁiug nﬂw werk w’[uaﬁ whic

Tear of being rejected by f0 reigners in the _.
D ﬁar uf mﬁskﬁ l_f_,_:_i'-w-:rrkers taking their pﬂm .
£ | none of the above |

nln'pﬂragraph 4, ‘precarious’ meazi___________

enjoyable e

/.| menial S

tolerant

comfortable

none of the above

‘This change' (Paragraph 5) refers to

the idea that in the modern world, smart technologies will certainly make jobs less
available for everyone.

the change that will affectwnrkpiace and employees’ behavior and manners as an effeet .i
new work norms, i

| the change that will affect employees’ incomes and livi ng standards as a result afusingiﬂl': i
.| at work. T
—

the change in the employers’ attitudes towards 1mmmmmb and loss competent workore

none of the above.

m ‘5% to 47%’ (Paragraph 5) refers to

——

the am
ount of all work that is expected to he performed by smart technologies.

B | the amount of routine work which is normally

e —
e
———

done in any industry or business.
_‘_—_\—-_

the amount of work whi

chis predie |
predicted to be covered by digital tech nologies, consideriog =

5

only structure work,
D
E

none of the ahove ——




| T1one of the aboye

o
CORSCIVAION atd Solf-erhammmmani oo ' i ceptible 10
alifomatios’ | p‘-md‘s"?“f‘ﬂ_ﬂﬁﬁﬂ Cement are more prominent in occupations susceptible (o
i (Paragraph 6) can be paraphrased as: 1

The desire of ' e . e
A | aspects wh!éht?rkers = ]{'Eftp_. the status-quo and to care more about their own success are
work. © miore noticeable in contexts where smart technologies cannot substitite
Wortkers are more likely tg ¢ : : i ifth 2 |
B supported by i ShelY 0 conserve and protect their working environment if they are
20 2y intelligent technologies in their own work.
o EH&I;FIES such as caring more about one's own financial situation and unwillingniess to be
S| Freative are observed more in jobs or tasks where automation is not possible.
Workers tend to be less creative and more focused on their own personal accomplishment
D when they are doing jobs which are mare likely to be affected by automation and digital
technologies.
E None of the above a
Which of the following best summarizes the main idea of paragraph 77
B paragrap
Workers who hold similar values compete over the same job. This cmnpeftttmn is beneficial
A | both for workers and the organization.
23 2ot The degreé— of fit between a worker's valu.-zﬂ.s and the job they are dﬂin':g positively impaets
7B | their job satisfaction, which ultimately affects the performance of their working place.
gl . ) ] . -
Organizations and businesses aim at having some level of correspondence between the
C occupations they need and the values they expect from workers.
p | The requirements for well-paid jobs change as an effect of Al substituting some work tasks.
E | None of the above




5 i m‘“‘“ﬂ“ﬂ

None of the above

By the end of his analysis, the author
not be achieved in Al societies.

concludes that person-job fit can —
' {o ioh- itin ;

= antimistic about the uestion of }Gh values f : :

is optimistic abou q == wals’ job security.

out the readiness of policymakers to increase individ

“ig not sure ab
135 worried about the fit between values and work in AlS.

ﬁ None of g:hg above
1
|

SECTION II. LANGUAGE (48 pts; 1 pt. each)

CHOOSE THE CORRECT OPTION.
to get into the pitch,

Hooliganism when a number of spectators

A | had started / had wanted
has started / wanted B
€ | couldstart / have wanted s

2 | started / wanted
E | None of the above )

The competition was really furious in the last Olympics: yet, the athlete the

race comfortably, The second runner was :
A | will have won Mer was 150 meters far behind,

"’ﬂﬁ was able to win
¢ |isable to win R TR —
D | could have won e i =
E [ Noneof the above T e T




as be
None of the

.Wﬁ'h’f : students were present in today's lecture. L
A | very much : ' _ o
B | much _'_F—__ﬁf—-#ﬂ

p |[alittle —4_____4__/______,—-—-———— \
L

None of the above

The clerk admitted 2 mistake in his calculations,
in the store.

made / caused

has made / caused

alw |

| making / causing

A

Ltk
wl

"

making / causes
Nﬂné of the above

m really miss with my friends. 1 haven't see
R ST S

: talking
[ to talk Sowlne & = -

b e ——

mig

n them for a long time.

= N 3.
|

talk _ i
have talked . -
e i

FJ[ u},




| Which of the following s

esses ‘lack qf'ﬁe_t:easity'?

Eﬂf&_ﬁﬂ;’_& :axpr

: ,
new mobile sinceé he'
Je. He doesn

5 travelling alone.

| You have to buy your son @ Tneed itatall -

Ar . e m'{,'r'.h.'l , =
e i catl travel without 1t

¥ Tdn't buy v mohile. People — '
i ol b St%#msing his friend's.

your son a new mobile. He ¢

%Jm’" You don't have to buy

None of the abeve

: ; K d
m She got sick once she arrived in London. She’s not accustome

by
in

o ks ]

of i

«;@m’l None of the above

m This matter should be discussed greater detail before taking any final decision.

A n

| by

on

of

—,
e

None of the above

13

In our country we are interested

- — the effects of climate change on mari% '

7

| in

_-_—-'-..

around

at . :.

Lo B RS

o

e

e - e ]

: None of the above \—\\\_ A



- —= % : i : =.-- -._-. o — ___. = --....: L .:-.: ;
ST —_
21t won't achiev her’ﬁﬂah—%_%ﬁ#&pﬂﬁhﬂ hefort: - L b I. |

A | inspiteof

E unless
C |evenif

D |aslongas
E

None of the above

Which of the following words is semantically odd?
_-_.___._.—-_-_._-'___- -

A Elation
Euphoria —
Serenity ==
4| Despondency
EE None of the above B
unning eve roing and eati e thy food has improved her health a lot.
The underlined part of the sentence is:
A | anobject o i _
g |acomplement
c |an adverhig____
%f” a subject
| é T hone of the above




fone of the above

The report by the time you come back next week.
A -‘Egv_iﬂ'.slgr;'ﬁ'ﬂ_
B | will been sign
¢ | will have signed

will have been sign_e.E

D
]fﬂ None of the above
as soon as the partners got the money they needed,

The project
A | has been implemented

B | is being implemented

had been implementing

4 was implemented

None of the ghove

"Renewable energies are crucial for reducin
energies soon," explains Professor Sy,
atement of what Professor Su has said?

g carbon emissions. They will replace fuel H

Which of the following is a correct reported st

5 Professor Su explained that l‘engvabgenergies would be erucial for reducing carbon
emissions. He adds that they would replace fuel energies soon,

e

{ He adds that they wil| replace fuel energies soon,

- " e — —_——
Professor Su explains that renewablo energies are crucial for reducing carbon emissions.

Professor Su explains thar renevo e ———————— ~— -
& emis-sian; u gxﬁialmi: .that_lrenewable energmfs would be crucial for reduci ng carbon
And that they will have to replace fyel energies soon.

——T ———____l—\_._,__,_

D- .
He added that they would replace fuel energies soon,

| E None ﬂf'the_ahbi.re

Profe In$ that renewalis moor—————— i e
OIESSor Su explaing that renewable energies were crucial for reducing carbon emissions i




None of the above

1 would like to travel to Chin '
. ¥ e al h“t unfﬂ e MGy : 1 i i
Chinese. This idea can similarly be exp .r;:;i;.‘ d‘.“;?}" 1can't because I dont speak

Ifl spe_ék Chinese, I will travel to China.

_I?I_speak Chinese, | would travel to China.

—

c if i could speak Chinese, | would travel to China.
p |1wouldhave traveled to China if [ spoke Chinese,
g | Noneof the above _\

Which of the following sentences contains an instance of a wrong word combination

or collocation?
A |In the evening, [ will go shopping with my mother.
g | Trynotto make decisions without seeking j}s:rur friends’ advice.

#_E Let's ga to the caffa_&-sﬁgi_ﬂﬁe a drink together.
D 7| Lalways help in the chores: | like to do the dishes,

g | Noneofthe above

‘For my friend’s birthday party, | need to buy her __handbags.’

Sl = . T - )
A | two, green, small, leather, Chanel, round
e
B | two, small, round, green, Chanel, leather
¢ |two, round, leather, Chanel, small, green
r—ﬁﬂr'_h o = ===y
p |two, Chanel, green, small, leather, roun
. i i el PR e U L
77| None of the above




= o i _ -2+ o Py
o 4 (i - = - ——_— -
i e e S _- =
[ III akd i ':-_- 3 - T i |
|| € |asuggestion. o g = : s R |
| b |arecommendation - -
[ & _|Noneortheabove -

‘Which of the following words is an adverb?
Deadly

B | Largely

Silly.
D | Timely
E | Noneofthe above

=

mueh of the following affixes is used to form ‘nouns’ from other parts of speech?

ful

oo
e
E

4
%

== "
=4 -tion

Dis-

-

None of the above

m&ich of the following prefixes roughly means ‘to do something again'?

A |1
B | Bi-

¢ | Im- -

;5:5 Re-

E | None of the above ——————

E?ff;é‘i He really drives fast,

In which of the following sentences is the word ‘fast’ an adverb?

I hate fast food.

J This car is very fast,

] Soufian is a fastathlete,
el T

! None of the above



ol R
i i

anerji‘wnsnmgﬂm —
.~,.,.,__me-a-famr. e | = ==

-'ﬁ'éfi‘a‘f*ﬁhe'ahwe' |

Lwh_h;h_afthe following words e

!,,__znﬂer'stan;i g words doesn't include a prefix?
Underground
o e 5
Un-dErprivil_eged
Underestimate
et

None of the above

In which of the following words does the prefix gver- have the meaning of ‘more tﬁ'ﬂn

expected'?

Overlook
| Overpay
| Qvercome

Overwhelm =
g | None of the above ==

What function is expressed in the following sentence?
ad his flight to Londan.

must have already book:

"Tom is travelling this svening; he
_ﬂ__.______ﬁ__—__________ .
Probability
_ RS S
| Certainty |
¢ | Acomplaint ]
I |
R L e =
p | Obligation 2
e | F_______________________— ]
E [None of the above




D S-hﬁ*s ﬁﬁt:epmi ng he‘tausg she hate5 to go out on 1r=~ai:n;¢r days.

gJ Hﬁﬂﬂ of the above

‘They have finally bought what thev're looking for.’

The underlined part in the sentence is

A | asubject

B | anadjective phrase

| anobject

a complement

E | none of the above

‘They cancelled the picnic because they couldn’t agree on where to
This sentence includes an instance o if

go.

time suhnrdmatmn

:'.'-'-fj_! reason subordination

[ condition subordination

——

D | contrast subordination 2
E | None ofthe above ‘
‘The local council will certainly review the strategy this year,
Which phrase will have the Junction of g subject if we transform this sentence into the passive
Voice?
A [ the local council .
rﬁf” g the strategy T e
C | this year S e~ ===
D | the council R
E | None of the aboye ==t




Mone of the above

e

mﬂiﬂh of the following sentences is correctly structured?
Although the project is due next week, however, she has not started working on it yet.

A

e —— - :
B The manager, who had never missed a deadline, he was unexpectediy late with his report
| this time. Nk

= | Even if the weather doesn't permit, going on a picnic seon anyway.

C
p | Theengineer, who invented the first Ipad, having received a prize for his work,

7 | None of the above

My papers once

I still have only a few hours before the exan, I need to

more.
go along I s B T
0 over B
¢ |gofor = e
p |goon S
E | None of the above ~
\




D Wu'ulﬂ you r_mm_:i &gﬁmi}g.-_ﬂtérﬂﬁj@*r,-ples;sfé?"

_E_| Noneof the above

A:'Idon't like action movies.’

B:
Which of the following can be used by B to agree with A7 -
A | ldon't neither.
B | Neitherdo too, =Sy
“A Idon't either.

D | Neither me,

L E ! None of the above

A: T'm not in the mood for couscous today.
B:

Which of the following can be used By B to disagree with 47

A Neither ﬂ?} e T e

B I N_E'f_thﬂ'l‘am L T e

C I Sodaol. S e e == A o S
| 1 am. S '__———-—————____._,______H

i e N

E I None of the above == =L ]

Which of the following words is semantically different?

A | Beach i M e B |

] Volcano e o

e S

e
T None of the above e




l when ‘Kick the bucket' is used in a sentence, there's reference 1o

o icking a ball
‘ a person’s birthday party.

a_'pgf‘sﬂ_\ﬂ's death,

the birth of a baby.

.'EL- “| None of the above

Which of the following words can be a noun, a verb and an adjective depending on its

context of use?

A Grow
g | Believe
Light
p |Run i
£ | None of the above - i

1

There is a general, conventional rule which we follow to form the comparative and
superlative forms of adjectives. which of the following adjectives doesn’t abide by

this conventional rule.

far
crowded s i
‘| bad =i
D |expensive =l
__._ None of the above T




— .

| | ¢ | Narrative writing _ | P
D | Argumentative writing B
g | None of the above

ey

T
-

| ‘Argumentative writing and ‘descriptive writing'are examplesof ————
A | paragraph structures e

genres

¢ | formats

p | conventions
E | None of the above

These are 4 sentences taken from a paragraph about ‘the effects of logging’. Which of

the sentences may not be relevant in this paragraph?

Lﬂgging,attivjt_ies can lead to huge loss of biodiversity, as many species lose their natural

A | habitats.
Deforestation due to logging increases the risk of erosion and landslides. 1-,

Logging can disrupt the water cycle, impacting wﬁ%ﬁﬁﬁtaﬁfﬂf for the communities.

Forests provide recreational opportunities for hiking and bi:‘d-ax'atcﬂrng.

T
,-f@-.:,
St

E | Noneof the above

These are 4 sentences related to a paragraph about ‘professional foot-ball', Which of
the sentences contains vague words/phrases that need more clarification?

Professional football offers some benefits through the jobs it creates for different people
and in different domains, including players, restaurant and hotel owners, taxi dm,efs' and

also those who sell jerseys and caps.
B This sport promotes physical fitness and health among players, eNncoUraging a more active
lifestyle. This also encourages other non-professionals to take care more (}f‘ﬂ‘iE‘ii‘ health

| Professional football helps in various ways that are and peopl
. | : . good for fans and people who wate :
games. Certainly, these people can benefit from watching the game in ziffir;ntfiva?sauh .

vl

e H

The popul ' Treates ; ity ¢ ' 0 5|
b |/ d}: pL grity of football creates a sense nfumt_}r among fans who support the same team, |
eading to a greater sense of community, belonging and social cohesion Y

—i

E | None of the above




fjack of relevance — e
ff edundancy e : = G
- ~—= —
+ — [Noneoftheabove — ——— _ ; iy b b

u watched a sci-fi e : !
plot of the movie, which of ;:h O;Vi you are asked to write to your classmates about the
€ following structures is more likely to be followed?

% Cause-effect text
'Tﬁb!&l’nﬁﬂ}utiﬂn text
'."E" | Chronological order text
r—1 5 "
p | Comparison and contrast text
g | None of the above

How many mistakes are there in the following text?

Last Octobre I went on a trip to paris with some of my freinds and classmates, We had some.
ecciting time there. It wasn't easy for us to have access to accomodation downtown: but we

managed to find a studie not far from the eiffel Tower.

3 mistakes

4 mistakes

7 ¢ /| b mistakes

7 mistakes

g | None of the above

on correctly?

Which sentence uses a semicol
_-_._'_._'_._._._ - L
Sarah got into the coffee-shop; bﬂught_snrﬂe coffee and left.

B | After the match finished; we x-ve_nia_ut_____F
T was really exciting:

¢ | The movie, despite its lengt

He was tired: so he wentto b

si(Etn celebrate our team.

ed E&I*l}', .

None of the above




l_'_'lu T4
o N

W
|
[l

asi]

ideas to the text __ -
‘The use of connecting words.

Continuous repetition of some sentences e

None of the above

— . . s essay is?
Read the conclusion of an essay, Which type of text do you think this essay

i i S IS say i
The death penalty is a hotly debated issue, with strong opinions on l?mh ﬂdf;ﬁsﬁf?fgﬁﬂﬁ
prevents crime and brings justice to victims' families. However, cr1t1¥;§_§‘¢‘$‘~}i the death penalty
can lead to innocent people being wrongly executed. B{‘IE&USIC of thgsﬂ Iis: ‘%k et e aﬁ
remains a very controversial practice. Given the potential for irreversible mistakes, it i e

the death penalty should be abolishied.
Expository

4 B | Argumentative

Narrative

Descriptive text

None of the above

A

Read the following paragraph and chooese the correct order of the given words based
on the order of the blanks in the text. (Irrespective of capitalization conventions)

Dropping out of school is caused by many factors . 0 . poverty and parents’ illiteracy,
which forces children to work instead of going to schoaol. , children often face limited:
Jjob opportunities, low ifcome and a lot of hardship throughout their lives, , & lack of
tamily ‘and school support can exacérbate the problem.
succeed 1 their lives without a formal education. they generally encounter more financial and
social obstacles along the way, . addressing the issue of school dropouts is essential for
improving the individual’s future and society as a whole.

some children manage fo

| such as - al though - hence - additionally - as a result

.v'rﬂ?gf-?
R e
2 *,;ff}

such as - as a result - additionally - although - hence _

¢ | suchas- hence- although - additionally - as a result
. D |suchas- hence - as aresult - additionally - although .
E | None of the above




wing sentence ,
ph a coherent tﬁ:t?ﬁ'gmthﬁm —

. P‘“p}& these benefits, oy,
" to-faceinteractions.

Ors 16 b&]aﬂy:e-sc - S . s
: screen i
rounded educatisy. time with traditional learning
ety of in B
s aH:cfltarmam:m. following their own preferences and
nthe ¢l €55 to auditory as well as visual content.
E L - I i o
- ssroom has also enabled more efficient delivery of the

methods to ensure a wel|.
g, Students can access a vari
| learrlling styles. They can
,g?f, The integration of iPads j
lesson,

e i e

i#lc-b-e-f-d-a

c-a-b-d-e-f

¢c-f-a-b-d-e i

c-e-b-d-a-f

L

g | None of the above

Here's a paragraph about social media. Which of the four given sentences can fitin |
the gap?
Bxcessive use of social media can lead to a lot of negative ¢ffects on one's miental health, It

often causes feelings of inadequacy among Cenagers as they usually compare their lives 10
3 . This can result in

that of the people they see in the virtual world,
decreased productivity and disrupted sleep patierns. Moreover. social media addiction can

detract from real-life social interactions,

Cﬂnstantlj;rTnEE:';'ing up to others can negatively impact self-esteem and lead to
) depression. . bl
g | Interacting with others on social media platforms can enhance the feelings of belonging,

C

d to various physical health issues,

ke

Social media usage has beenlin

p | Many people use social media to stay conne

cted with friends and family.

e

E | Noneofthe above

i i nces is correctly capitalized?

Which of the following sente _
___——_——___' g ! 1 A = Rt

M5 naver visited toronto In Spring She's planmng to go there this year.

: | ~apora prefert eir Ald Aladha cel Jbratio L in their country;

Most muslims in the Diaspora prefer to have theil Ald Aladha celebration i

A Most old mm}}{:e}ﬁ}ﬁﬁﬁl{ —itanic can be found nowon YouTube.

I ,}E,;L'éu_ﬁﬁﬁe#r._ countries faced ;nﬂﬂw,_————

—— e

[ After the World war e

E —Eﬁne of the above

m——




i&&dﬂwp T cetﬂﬁnapaﬂ—thﬂe job. Which i'fp_nnm‘:w.ﬂ from k.

beiuwm ﬁarrara!:ljr replnne ‘But’ and ‘In spite © in the text? 1 :
be beneficial for young people. F 1&1,__5&1&- i

Doing a part-time ;-:}h at an early age can

tesporisibility and time management. But, ger.
competences. Consequently, you get well PWPam’d for your future 685 i gkﬁI&

it helps you develop your jobs or i -.

work and scheool can be challenging, it often IBW_ |
Yet - Also : _/_//_________ 1

Despite - In addition to E=E e

- | Moreover - Though I

Nevertheless - As a result ==

None of the above

: : 2
Which of the sentences below does not {hrecfh suppuri‘ the following topic Sentence:

“Exercising regularly is of ,gr—::at henefit to one’s health.”

— e ——

it makes our mood better.

It also balances the blood pressure in our heal th,

o
=7 Due to work pressure, everybo

dy Teeds some time 1e for exercising:

It strengthens social ties and relmmﬁ between the mer nbm s of the same club or gym.

None of the above




